Section 3 Session 3

1

10

5x2
6 x2
8x5

Qx 10

15=+5
4O = 10
30+5

18 + 2

multiplied by 2 is k.

multiplied by 5 is 35.

multiplied by 10 is 50.

multiplied by 2 is 18.
multiplied by 5 is k5.
divided by 5 is 8.
divided by 2 is 6.
divided by 10 is 2.
divided by 5 is 1.

25 divided by is 5.

ANSWER

~ ANSWER

31

What is the cost of

1

- 10 oranges? £

8 marbles?

10 chews?

- 7 tennis balls?

9 apples?

~ ANSWER

or

How many does each child receive?

5 children

10

30 muffins shared by

4O strawberries shared by
10 children

- 12 flapjacks shared by

2 children

16 mints shared by

2 children

80 chocolates shared by
10 children




